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Chosen Option : 2

Q.2
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Status : Answered
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Question ID : 63068044903
Status : Answered
Chosen Option : 4
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Question ID : 63068045217
Status : Answered
Chosen Option : 3
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Question ID : 63068045215
Status : Answered
Chosen Option : 2
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Question ID : 63068037791
Status : Answered
Chosen Option : 4
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Question ID : 63068044936
Status : Answered
Chosen Option : 1
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Question ID : 63068031255
Status : Answered
Chosen Option : 2
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Question ID : 63068038652
Status : Answered
Chosen Option : 2
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Question ID : 63068045225
Status : Answered
Chosen Option : 4

Q.11 A man walks 10 m towards the north. Then, turning to his left, he walks 12m. The, turning tohis
right, he walks again 10m. Again he turns to his right and walks 12m. In which direction he is

facing now?
Ans X 1. West

o 2. East
25 3. North
X 4. South

Question ID : 63068044990
Status : Answered
Chosen Option : 2
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2019 43.65 61.23 | 67.25| 22.89 | 59.27
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Question ID : 63068026604
Status : Answered
Chosen Option : 3
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Question ID : 63068037967
Status : Answered
Chosen Option : 4
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Question ID : 63068038301
Status : Answered
Chosen Option : 4
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Question ID : 63068037934
Status : Answered
Chosen Option : 1
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Question ID : 63068045098
Status : Answered
Chosen Option : 2
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Question ID : 63068045051
Status : Answered
Chosen Option : 3
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Question ID : 63068045181
Status : Answered
Chosen Option : 2
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Question ID : 63068044947
Status : Answered
Chosen Option : 3
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Question ID : 63068044941
Status : Answered
Chosen Option : 3
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Question ID : 63068045260
Status : Answered
Chosen Option : 3
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Question ID : 63068038720
Status : Answered
Chosen Option : 3
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Question ID : 63068045173
Status : Answered
Chosen Option : 4
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Question ID : 63068045105
Status : Answered
Chosen Option : 4
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Question ID : 63068045996
Status : Answered
Chosen Option : 4
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Question ID : 63068045138
Status : Answered
Chosen Option : 3
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Question ID : 63068045066
Status : Answered
Chosen Option : 3
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Question ID : 63068037805
Status : Answered
Chosen Option : 4
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Question ID : 63068037928
Status : Answered
Chosen Option : 1
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Question ID : 63068045210
Status : Answered
Chosen Option : 2
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Question ID : 63068038149
Status : Answered
Chosen Option : 2
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Question ID : 63068045193
Status : Answered
Chosen Option : 3
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Question ID : 63068041529
Status : Answered
Chosen Option : 1
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Status : Answered
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Question ID : 63068037753
Status : Answered
Chosen Option : 3
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Question ID : 63068045161
Status : Answered
Chosen Option : 2
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Question ID : 63068046015
Status : Answered
Chosen Option : 2
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Question ID : 63068041524
Status : Answered
Chosen Option : 4
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Question ID : 63068045150
Status : Answered
Chosen Option : 4

Question ID : 63068038159
Status : Answered
Chosen Option : 1

Q.41 Rahul walked 18 m towards south, took left turn and walked 18m. He took a left turn and walked
28m. He took a left turn and walked 30 m. He again took a left turn and walked 10m.How far

Question ID : 63068044991
Status : Answered
Chosen Option : 3
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Status : Answered
Chosen Option : 2
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Status : Answered
Chosen Option : 1
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Question ID : 63068041525
Status : Answered
Chosen Option : 1
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Question ID : 63068038655
Status : Answered
Chosen Option : 4
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Status : Answered
Chosen Option : 4
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Q.53 In MS PowerPoint 2019, which shortcut key is used to copy the attributes of a selectedshape?
Ans X 1.Alt+ Shift+C

X2 ctrl+Alt+C
25 3.5hift+ Tab+C

" 4. Ctrl + Shift + C
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4. 1=-3, 1I-2,

-1
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Q58 Ms Excel 2019 &5, faost wacae st B fearse a9 o =3t =t 37
Ans L Ctrl + K

2. Ctrl + L

3. Alt + K

4 Alt + L
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Q.59 Acryptosystem where different key(s) are used for encryption and decryption is
called Asymmetric or Public Key System.

Ans X 1. four
X 2. three
X 3.0ne
o 4. two
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Q.62 Ms PowerPoint 2019 TS5, fagst macae &t Fdacs dare § Aes warfes w8t =93t At 37

Ans LCtrl +J
2 Ctrl + E

3 Ctrl + R

4 Ctrl + L
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Q.64 Which of the following is an ingredient of public key encryption?
1. Plaintext
11. Public and Private Key
111.Decryption algorithm

Ans 25 1. and 1N
" 2.1 11and Il
2 3. land NI
X 4 1and Il
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Ans L
Frer Afagfadt a3 wie T (Data Security Cadet of India)
x 2.
I Refadt 332 wie 83 (Data Severity Cadet of India)
x 3.
s Refadt IRE nig 83 (Data Severity Council of India)
o 4,
Frer AfaSfadt &ms wie 8 (Data Security Council of India)

Question ID : 63068044852
Status : Answered
Chosen Option : 1




Q66 ms PowerPoint 2019 &3, faat Fraeae &t Féawms Us e fia ndaes witer Sa=as § e a9s 58
EEEE S

Ans 1 Tab + Alt + B
2 Ctrl + Tab + B

3 Alt + Shift + B
¥ 4 Ctrl + Shift + B
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Ans 1. ALU

2 Uge

3. Udteas fse=rfen
&4 CU
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Q.68 works on a client/server model.
I.FTP

II. TELNET
Ans X 1. Neither I nor Il

X 2.0nly Il
X 3.0nlyl
" 4.Both I and II
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* erfem fae 2 ydtware @ SRS S forar AT 3
Ao ASEd (sectors)
2. fAE3S (cylinders)

3 Gag-H3 (segments)

a. E}a (tracks)

Question ID : 63068044554
Status : Answered
Chosen Option : 1

Q.72 In magnetic disks, the time taken by the read-write head to move to the specified track is
known as .
Ans /X 1.data transfer time

25 2. rotational time
" 3. seek time
25 4. latency

Question ID : 63068045431
Status : Answered
Chosen Option : 4

Q.73 Which of the following statement is correct?
1. Network interface card does not provide the connection port for the LAN in VolP phones.
11.MAC address is required for peacefully connecting to an Ethernet Network.
Ans  #5 1.Bothland Il
" 2.0nly 1l
2 3.0nlyl

2 4. Neither 1 nor 11

Question ID : 63068044761
Status : Answered
Chosen Option : 2
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Question ID : 63068044589
Status : Answered
Chosen Option : 3
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Question ID : 63068044564
Status : Answered
Chosen Option : 2
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Question ID : 63068044802
Status : Answered
Chosen Option : 1
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Question ID : 63068044714
Status : Answered
Chosen Option : 2

© IMAP o AIeT 3 B T YSOE a98 W3 HF Y3

95 &% AU 31 IMAP TF YI& gy ot 97

Ans x 1.
fofifsee A= waiA QQEW (Immediate Mail Access Protocol)

o 2.
fiegse A aRH fﬁa“‘&‘ (Internet Mail Access Protocol)
x 3.
féeade R afes Y2 (Intemet Mail Active Protocol)
x 4,
foifsee »= wafes q%arg (Immediate Mail Active Protocol)

Question ID : 63068045360
Status : Answered
Chosen Option : 2
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Question ID : 63068045642
Status : Answered
Chosen Option : 2
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Question ID : 63068044808
Status : Answered
Chosen Option : 4

Q.81 Select the most suitable synonym of the word MINIATURE from the options given below.Ans
25 1. Very Thin

«” 2. Very Small
2 3. Very Tall
X 4. Very Large

Question ID : 63068035053
Status : Answered
Chosen Option : 1




Q.82 Parts of a sentence are given below in jumbled order. These parts have been labelled as P,Q, R,
and S. Arrange the parts in the right order to form a meaningful sentence.

all day, | completed (P) / not feeling well (Q) / in spite of (R) / my work on time (S)Ans
" 1.RQPS
& 2. QRSP
X 3.RSQP
X 4.PSQR

Question ID : 63068021039
Status : Answered

Chosen Option : 2

°F it Smes He I T o A nieSR wisere 3
Ans 1. We have stopped talking each other.

X 2. We are not talking to each other.

+ 3. We are not on talking terms.

X 4 We have not talking terms.

Question ID : 63068045544
Status : Answered
Chosen Option : 4

0% iz 2 srege 7B oW fes wow @ i &t 3 Ta T A W wigee 3

Ans x 1.
instead of drought there is no shortage of food grains in our country.
x 2.
Despite of drought there is no shortage of food in our country.
x 3.
Due to drought there is no shortage of food grains in our country.

4.
Despite drought there is no shortage of food grains in our country.

Question ID : 63068045575
Status : Answered
Chosen Option : 3

Q.85 Select the most appropriate option to fill in the blank.
The United Kingdom England, Scotland, Northern Ireland and Wales.
Ans  &# 1. comprises
2. shows
25 3. mixes

< 4. picks

Question ID : 63068026283
Status : Answered
Chosen Option : 2




Q.86 Choose the most suitable option to substitute the UNDERLINED part of the given sentence.

They reached the cinema early so as they might get a good seat.
Ans o 1. so that they might
25 2. for as they may
< 3.in order to they might

& 4. 50 as they may

Question ID : 63068021488
Status : Answered
Chosen Option : 3

7 Hfwer AT T B wESH wgee 3
Ans o 1. Civilized

X 2. Civlization

X 3 Cultural

X 4 Culture

Question ID : 63068045468
Status : Answered
Chosen Option : 3

% frouw FEE T A WS waee 3-

Ans 1. Crimson
+ 2. Crimeless
< 3 Crime
< 4 Crime waver

Question ID : 63068045472
Status : Answered
Chosen Option : 2

Q89 ‘grgz gt fefonradn 52t witrls =72 g =i AT 31’ Ta & Ft WS wgere -
Ans L India is a great place of studies for poor students.

+ 2. India is a good place of studies for poor students.

X 3 India is a best place of studies for poor students.

X 4 India is the good place of studies for poor students.

Question ID : 63068045558
Status : Answered
Chosen Option : 4




Q.90 Arrange the parts(1), (2), (3) and (4) of the following sentences to create meaningful
sentences and choose the right option accordingly.

1) people think they’re

2) Blackberry phones used to be

3) old-fashioned gadgets

4) extremely popular, but now many

Ans XK 1.4,31,2
231,24
X3.4,1,3,2
o 4.2,41,3

Question ID : 63068035409
Status : Answered
Chosen Option : 4

Q.91 Choose the correct ANTONYM of the given word.

GRATITUDE
Ans X 1. Unpleasantness

«" 2. Thanklessness
25 3. Gratefulness

25 4. Felicitousness

Question ID : 63068035247
Status : Answered
Chosen Option : 2

Q.92 The following sentence has been split into four parts. Identify the part that has a
grammatical error in it.

The injured / were / taken / to a hospital.
Ans & 1.t0 a hospital

2. The injured

3. were
5 4. taken

Question ID : 63068034826
Status : Answered
Chosen Option : 3

Q.93 Select the most appropriate option to fill in the blank.

Gagan Narang won the bronze medal Sunday at the London Olympics in 2012.
Ans X 1.onto

o 2.0n
X 3.at
X 4.in

Question ID : 63068026294
Status : Answered
Chosen Option : 2




Q.94 Choose the word from the options that is farthest in meaning to the given word.Melancholy
Ans X 1. Composed

25 2. Esteemed
« 3. Exuberant

5 4. Gloomy

Question 1D : 63068036071
Status : Answered
Chosen Option : 4

Q.95 Choose the grammatically correct option from the four choices given below.
Ans X 1.0ne day from a lecture tour, Mark Twain entered a local barber shop for a shave.

< 2. 0ne day in a lecture tour, Mark Twain entered a local barber shop for a shave.
25 3.0ne day for a lecture tour, Mark Twain entered a local barber shop for a shave.

4" 4. One day during a lecture tour, Mark Twain entered a local barber shop for a shave.

Question ID : 63068035337
Status : Answered
Chosen Option : 4

Comprehension:

music directors RC Boral and Pankaj Mullick.

the reigning female singing star Noorjehan went to the newly carved-outPakistan, leaving behind a
huge void. That void was filled by two singers who went on to become playback legends: Lata
Mangeshkar and Mohammed Rafi.

mentioned on the music record as the singer of Aayega Aanewala; the song was credited instead to

“the pivotal point when playback singing was fully accepted by Indian audiences”.

The foundations of playback singing were laid in these years; the late *40s and early *50swould
birth what is generally regarded as the Golden Age of Hindi film music.

Alongside Lata and Rafi, other revered singers came into their own in these years: Mukesh, Talat
Mahmood, Geeta Dutt (Kishore Kumar and Asha Bhosle would find their own huge stardom later).
And the lyrics were by extraordinary poets like Shakeel Badayuni and Shailendra.

existence.

SubQuestion No : 96
Q.96 Who was Pankaj Mullick’s collaborator for the first playback song in Hindi cinema?
Ans X 1.Lata Mangeshkar

¥ 2. R C Boral
25 3. Nitin Bose
25 4.5D Burman

Playback singers acquired independent fame and fandom with the film Mahal in 1949. Lata was not

Kamini, the character played by Madhubala. Fans demanded to know the name of the actual singer,
whilst Lata lobbied too. The ‘mistake’ was rectified in the next batchof records. Thereafter, crediting
playback singers became the norm. The appearance of playback singers’ names on recordings was in fact

The Hindi film song has been part of our existence, seemingly forever. But you can actually put a date
to it: 85 years ago, in 1935, the first playback song was recorded, for Nitin Bose’s Dhoop Chhaon, by

Before that, actors sang their own songs, on the set. Playback singing took time to settle in,but 1947
was something of a turning point. India’s most famous singing star KL Saigal diedearly that year, and

Playback singing meant songs were recorded in separate venues, usually in advance, and released before
the film, in order to promote it — a practice that continues till today. Playbacktechnology separated the
production of the music from that of the films, and gave the Hindi film song a powerful and independent

Question ID : 63068035491
Status : Answered

Chosen Option © 2




Comprehension:

The Hindi film song has been part of our existence, seemingly forever. But you can actually put a date
to it: 85 years ago, in 19335, the first playback song was recorded, for Nitin Bose’sDhoop Chhaon, by
music directors RC Boral and Pankaj Mullick.

Before that, actors sang their own songs, on the set. Playback singing took time to settle in,but 1947
was something of a turning point. India’s most famous singing star KL Saigal diedearly that year, and
the reigning female singing star Noorjehan went to the newly carved-outPakistan, leaving behind a

huge void. That void was filled by two singers who went on to become playback legends: Lata
Mangeshkar and Mohammed Rafi.

Playback singers acquired independent fame and fandom with the film Mahal in 1949. Lata was not
mentioned on the music record as the singer of Aayega Aanewala; the song was credited instead to
Kamini, the character played by Madhubala. Fans demanded to know the name of the actual singer,
whilst Lata lobbied too. The ‘mistake” was rectified in the next batchof records. Thereafter, crediting
playback singers became the norm. The appearance of playback singers’ names on recordings was in fact
“the pivotal point when playback singing was fully accepted by Indian audiences”.

The foundations of playback singing were laid in these years; the late *40s and early *50swould

birth what is generally regarded as the Golden Age of Hindi film music.

Alongside Lata and Rafi, other revered singers came into their own in these years: Mukesh, Talat
Mahmood, Geeta Dutt (Kishore Kumar and Asha Bhosle would find their own huge stardom later).

And the lyrics were by extraordinary poets like Shakeel Badayuni and Shailendra.

Playback singing meant songs were recorded in separate venues, usually in advance, and released before
the film, in order to promote it — a practice that continues till today. Playbacktechnology separated the
production of the music from that of the films, and gave the Hindi film song a powerful and independent
existence.

SubQuestion No : 97

Q.97 Which leading pair of singers dominated the Golden Age of Hindi film music?

Ans

/5 1. Talat Mahmood and Suraiya
#< 2. Geeta Dutt and Mukesh
¥ 3. Lata Mangeshkar and Mohammed Rafi

< 4. Asha Bhonsle and Kishore Kumar

Question ID : 63068035492
Status : Answered

Chosen Option : 3




Comprehension:

The Hindi film song has been part of our existence, seemingly forever. But you can actually put a date
to it: 85 years ago, in 19335, the first playback song was recorded, for Nitin Bose’sDhoop Chhaon, by
music directors RC Boral and Pankaj Mullick.

Before that, actors sang their own songs, on the set. Playback singing took time to settle in,but 1947
was something of a turning point. India’s most famous singing star KL Saigal diedearly that year, and
the reigning female singing star Noorjehan went to the newly carved-outPakistan, leaving behind a

huge void. That void was filled by two singers who went on to become playback legends: Lata
Mangeshkar and Mohammed Rafi.

Playback singers acquired independent fame and fandom with the film Mahal in 1949. Lata was not
mentioned on the music record as the singer of Aayega Aanewala; the song was credited instead to
Kamini, the character played by Madhubala. Fans demanded to know the name of the actual singer,
whilst Lata lobbied too. The ‘mistake” was rectified in the next batchof records. Thereafter, crediting
playback singers became the norm. The appearance of playback singers’ names on recordings was in fact
“the pivotal point when playback singing was fully accepted by Indian audiences”.

The foundations of playback singing were laid in these years; the late *40s and early *50swould

birth what is generally regarded as the Golden Age of Hindi film music.

Alongside Lata and Rafi, other revered singers came into their own in these years: Mukesh, Talat
Mahmood, Geeta Dutt (Kishore Kumar and Asha Bhosle would find their own huge stardom later).

And the lyrics were by extraordinary poets like Shakeel Badayuni and Shailendra.

Playback singing meant songs were recorded in separate venues, usually in advance, and released before
the film, in order to promote it — a practice that continues till today. Playbacktechnology separated the
production of the music from that of the films, and gave the Hindi film song a powerful and independent
existence.

SubQuestion No : 98
Q.98 Who were the reigning singing film stars before 19477
Ans 4 1. KL Saigal and Noorjehan

#< 2. Suraiya and Surender
#< 3. Zohra Bai and Pankaj Mallick

4. Ashok Kumar and Devika Rani

Question ID : 63068035493
Status : Answered

Chosen Option & 1




Comprehension:

The Hindi film song has been part of our existence, seemingly forever. But you can actually put a date
to it: 85 years ago, in 19335, the first playback song was recorded, for Nitin Bose’sDhoop Chhaon, by
music directors RC Boral and Pankaj Mullick.

Before that, actors sang their own songs, on the set. Playback singing took time to settle in,but 1947
was something of a turning point. India’s most famous singing star KL Saigal diedearly that year, and
the reigning female singing star Noorjehan went to the newly carved-outPakistan, leaving behind a

huge void. That void was filled by two singers who went on to become playback legends: Lata
Mangeshkar and Mohammed Rafi.

Playback singers acquired independent fame and fandom with the film Mahal in 1949. Lata was not
mentioned on the music record as the singer of Aayega Aanewala; the song was credited instead to
Kamini, the character played by Madhubala. Fans demanded to know the name of the actual singer,
whilst Lata lobbied too. The ‘mistake” was rectified in the next batchof records. Thereafter, crediting
playback singers became the norm. The appearance of playback singers’ names on recordings was in fact
“the pivotal point when playback singing was fully accepted by Indian audiences”.

The foundations of playback singing were laid in these years; the late *40s and early *50swould

birth what is generally regarded as the Golden Age of Hindi film music.

Alongside Lata and Rafi, other revered singers came into their own in these years: Mukesh, Talat
Mahmood, Geeta Dutt (Kishore Kumar and Asha Bhosle would find their own huge stardom later).

And the lyrics were by extraordinary poets like Shakeel Badayuni and Shailendra.

Playback singing meant songs were recorded in separate venues, usually in advance, and released before
the film, in order to promote it — a practice that continues till today. Playbacktechnology separated the
production of the music from that of the films, and gave the Hindi film song a powerful and independent
existence.

SubQuestion No : 99
Q.99 Which song changed the way playback singers in Hindi cinema were treated? Ans
/5 1.Jiya Bekarar Hai

25 2. Chale Dil Ki Duniya
¥ 3. Aayega Aanewala

25 4. Afsana Likh Rahi

Question ID : 63068035494
Status : Answered

Chosen Option : 3




Q.10

AN

Comprehension:

The Hindi film song has been part of our existence, seemingly forever. But you can actually put a date
to it: 85 years ago, in 1935, the first playback song was recorded, for Nitin Bose’sDhoop Chhaon, by
music directors RC Boral and Pankaj Mullick.

Before that, actors sang their own songs, on the set. Playback singing took time to settle in,but 1947
was something of a turning point. India’s most famous singing star KL Saigal diedearly that year, and
the reigning female singing star Noorjehan went to the newly carved-outPakistan, leaving behind a

huge void. That void was filled by two singers who went on to become playback legends: Lata
Mangeshkar and Mohammed Rafi.

Playback singers acquired independent fame and fandom with the film Mahal in 1949. Lata was not
mentioned on the music record as the singer of Aayega Aanewala; the song was credited instead to
Kamini, the character played by Madhubala. Fans demanded to know the name of the actual singer,
whilst Lata lobbied too. The ‘mistake” was rectified in the next batchof records. Thereafter, crediting
playback singers became the norm. The appearance of playback singers’ names on recordings was in fact
“the pivotal point when playback singing was fully accepted by Indian audiences”.

The foundations of playback singing were laid in these years; the late *40s and early *50swould

birth what is generally regarded as the Golden Age of Hindi film music.

Alongside Lata and Rafi, other revered singers came into their own in these years: Mukesh, Talat
Mahmood, Geeta Dutt (Kishore Kumar and Asha Bhosle would find their own huge stardom later).

And the lyrics were by extraordinary poets like Shakeel Badayuni and Shailendra.

Playback singing meant songs were recorded in separate venues, usually in advance, and released before
the film, in order to promote it — a practice that continues till today. Playbacktechnology separated the
production of the music from that of the films, and gave the Hindi film song a powerful and independent
existence.

SubQuestion No : 100

D Select the option that can best substitute the following set of words.A
person who writes the words to a popular song or musical

" 1. Lyricist
2. Music director
#< 3. Sound recordist

5 4. Singer

Question ID : 63068035495
Status : Answered

Chosen Option © 1




